@

Name

ORDER OF OPERATIONS .

OF:51
X®
Example 1: <<% - %) + %) x 23 Example 2: ((6.25 < 2.5) + 1.2°) — 3.89
_ 2y
=<%+%>><23 =(25+1.29)-3.89
— (2.5 + 1.44) — 3.89
= 3x2°
—3.94—3.89
=3X8
= 0.05
=24
Solve each expression.
2. AV, [LAY) 36
1) 3.2+ ((~4.5) +5.9) 2) (( 2>+< 3>) =
_ 01)— 622 1 (3Y) _s1).1
3)  (=74) % (~0.1) — 6.8) + 3.5 4) ((9><(2)) 34> L
2
2. ([_5\,2 _ 2 _ 2.
5) 2 << 2>><9> 6) ((=3.6+0.7%) —2.81) x (1.52+ 2.5)
7_ 5V (.7\. 71 _00p-
7) (8 8>><(( : 2) - 6) 8) ((47+66)—9.9) =49
©)
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Name

ORDER OF OPERATIONS .

Answer key OF:51
® X
Example 1: ((% - %) + %) x 23 Example 2: ((6.25 < 2.5) + 1.2°) — 3.89
_ 2y
=<%+%>x23 =(25+1.29)-3.89
=(2.5+ 1.44) - 3.89
=3x2
X ~3.94-3.89
=3X8
=0.05
=24
Solve each expression.
2. ((_ AT AT
1) 352+ ((-4.5)+5.9) 2) (( 2>+( 3>) =
8.75 1
3)  ((=7.4) X (<0.1) — 6.8) + 3.5 2 ([Lx (i>2 _31).1
9 2 4 6
—42 -18
2 2\
5 2. ((—i) x —> 6) ((=3.6+0.7)—2.81) x (1.52+ 2.5)
9 2 9
18 _
25 5.328
7_ 5\ f.2)\.Z EPYSCI
7) ( L 8) X (( 12) - 6) 8) (47 +6.6)—9.9) =49
1
12 0.56
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